D ACOUSTICS

Ara / Ara-Be Kit

User Manual



1 Manual | Ara/ Ara-Be Kit

Technical specification : Ara Ara-Be
Frequency range : 45-25000 Hz +/-3 dB 45-30000 Hz +/-3 dB
Sensitivity (2.83V/1m) : 87 dB 87 dB
Nominal impedance C 40 40
Max SPL : 105dB 105 dB
Recommended amplifier :  40-150 W 40-150 W
Cross-over frequency . 3000 Hz 2300 Hz
Speaker type . 2-way 2-way
Enclosure type . Bass reflex Bass reflex
Port tuning frequency  :  36.5 Hz 36.5Hz
Drive Units: Ara Ara-Be
- High frequency driver  : SATORI TW29R SATORI TW29BN
(29 mm soft ring dome) (Beryllium Tweeter)
- Low frequency drivers :  6'2" SATORI MW16P-4 6'," SATORI MW16P-4
(advanced midwoofer) (advanced midwoofer)
Cabinet:
18 mm MDF

Dimensions (H x W x D): 391 x 190 x 388 mm/ 15.4 x 7.48 x 15.27 inch

Net weight (pair):
- Cabinet only : 8.06kg/17.77 Ib
- Full assembly : 9.6kg/21.16lb

Special Features:

- Advanced high-end drivers.

- Facets on top of cabinet for reduced high frequency diffraction.

- Inclined baffle for correct time alignment of drivers
(allowing for simpler cross-over design)

- Wedge shaped inner rear walls behind midwoofer for reduced direct reflection

- Internal bracing to reduce and distribute cabinet vibrations and hence lower
sound coloration

- Solid single-wiring binding posts



Manual | Ara/ Ara-Be Kit 2
Frequency response (Ara-Be)
10C é 80
95 ] 73
90 AA A 67
o A / \ A // A\ \/ M%’ e A NAAL L)
NV ARA e
75 / \ 47
L V o g
—css J 33 el
60 A 27
55 / 20
50 TS 13
7 \\‘ o
45 e — —— 7
“© 20 50 100 200 500 1k 2k 5k 10k Zﬂk:z
Frequency response (Ara)
100 T 80
95 . 73
9% A 67
85 /\ M\/\\% 6& M‘U A A A — Y | 60
7 W [ AR IR
80 53
" P ' .
w 0 / 0 o
® 65 33 3
60 27
55 / 20
50 / \ 13
N ~
45 - SRR A — S 7
40 0
20 50 100 200 500 1k 2k 5k 10k 20kHz

Response Curve :
—=— (Blue) : on axis ——- ( Green ) : 15° off-axis —- (Red ) : 30° off-axis

Measured on-axis, 15° and 30° off-axis at 1 m in an ordinary room. Lower frequency dips and peaks are caused by room modes/reflections.




Mechanical drawing (size in mm)

Manual | Ara/ Ara-Be Kit

125

391
149,8

A-A'

X-CUT EXAMPLE

4 = [ 77y

\

\\

_

%\

T

A\

X-CUT
FOR
PAPER PORT

44.4

330




17,5

'8¢

Manual | Ara/ Ara-Be Kit
45




NO. PART NUMBER QTY.
1 SATORI TW29R or TW29BN (Sold separately) 1
2 67" SATORI MW16P-4 (Sold separately) 1
3 Ara Kit Crossover (Sold separately) 1
4 Hex Socket Screw 4x20mm (For driver) 12
5 | Countersunk Screw 4X20mm (For terminal plate) 4
6 Wood Screw 4x16mm (From kit crossover) 6
7 Insert Nut M4 (Installed) 16
8 Stainless Steel Terminal Panel 1
9 Binding Post (-) (Black) 1
10 Binding Post (+) (Red) 1
1 Seal Gasket (For terminal plate) 1
12 Port flare d:50mm (Installed on cabinet) 2
13 | Paper tube d:50mm L:160mm (Installed on cabinet) | 1
14 Name Plate 1
15 Grille for tweeter 1
16 Grille for woofer 1
17 Damping Material (See cut pattern) 1

Manual | Ara/ Ara-Be Kit

DETAILA
SCALE2:5




oL 08¢ 08¢

0S1
ove

091
08y

}
ove

ov

Gl8

h=1
p4
)
@
©
c
<
~
©
o
<
©
S
c
IS
=

(ww ul 9zIS) uidlled In) jeudle buidweq




Manual | Ara/ Ara-Be Kit

Damping material position (size in mm)

DACRON 90z WHITE COLOR T20MM

SIZE: 150MM X 110MM (STICK ON
THE SURFACE OF

ANOTHER DAMPING AT
VERTICAL POSITION) 1PC

DACRON 90z WHITE COLOR T20MM

DACRON 90z WHITE COLOR T20MM
SIZE: 280MM X 150MM (STICK ON

THE TOP OF CABINET) 2PC
DACRON 90z WHITE COLOR T20MM

SIZE: 705MM X 140MM ("U" FOLDED
AROUND THE TOP CHAMBER) 1PC

X-CUT

FOR
PAPER PORT

\
vv%vvkv%vvvvq@vvﬂ
=3
7

+
QAR

B
|

QLK

S
RS
SR

S

%%

27
%

,
3

3

R

;'.‘Z %09,
oo
SR
XSS

N
R

%5

8\ l
5

I
55550
355555
Bssssss
Gty
959555
P
R
B35
el S
psssss 355
Psss 5555
poosss S5
95505 SR
RESS5S 5555
S5 5555
S S
SEEE
5555

R

=
XY
N
00
83

%

S
By

3
X

S
R

X

R
R

3
N
X

3

R

%%

SIZE: 640MM X 160MM ("U" FOLDED

AROUND THE MIDDLE CHAMBER) 1PC

DACRON 90z WHITE COLOR T20MM
SIZE: 240MM X 110MM (STICK ON
THE BOTTOM OF CABINET) 2PC

DAMPING SIZE AND POSITION



Manual | Ara/ Ara-Be Kit

Crossover Schematic Ara-Be
IN ™
| |+ Red RI [”] R3 Black -
! R larit,
2 g 2.20hm/10W 4 6.80hm/10W Yeliow 5 everse polarity
CON2 5.6uF/400V  JL1 L2 TW29BN(B)
.22mH/0.7mm .68mH/0.5mm
R2 R
8.20hm/10W 3.90hm/10W
C2
‘—1_—|68uF/100V
WF
L3 L~ Red +
ImH/1.4mm 0.47mH/1.2mm
Black -
3 .—l—. RS MW 16P(NW)-4
4.7uF/400V 2 h/10W
R6
5.60hm/10W
Crossover Schematic Ara
IN R1 R3 w
4 |+ _Red ~ A [I Black -
! Reversed polarit
2 1.50hm/10W 3 4 270hm/10 o T p Y
5.6uF/400V )0.2mH/0.7mm )1.1mH/0.5mn} TW29R(B)
R4
3.30hm/10W
R2
2.70hm/10W
C2
lT‘GZUFMOOV
L3 L4 WF
YY) — Y Y Y\ . Red +
1.2mH/1.4mm 0.6mH/1.4mm
R5 Black -
C3 == MW16P-4
4.7uF/400V ‘T‘ 6.80hm/10W




Manual | Ara/ Ara-Be Kit

Assembling instruction

Part list (each cabinet):
- High frequency driver Satori TW29R or TW29BN (sold separately)... 1 pc

- Low frequency drivers 672" Satori MW16P-4 (sold separately) .......... 1 pc

- Ara kit crossover (sold separately) ...........cocceeeereeecceeieeeeeens 1 pc

- Hex socket screw M4 x 20mm (for drivers) .........ccccoovvreenennniennn. 12 pcs
- Countersunk screw M4 x 20mm (for terminal plate) ...........ccccevevnnen. 4 pcs
- Wood screw 4 x 16 mm for crossover (from kit crossover) ................. 6 pcs
- Insert nut M4 (installed on cabinet) .............cccovevevvveveceeeecee e, 16 pcs
- Stainless Terminal plate ... 1 pc

= BINAING POSE ..o 1 pair
- Seal gasket (for terminal plate) ..........ccooeeeeerce 1 pc

- Port flare (installed on cabingt) ... 1 pc

- Port paper tube (installed on cabinet) ...........cccccoevrniicvnnncee, 1 pc
=DAMPING oo s 1 pc
=INAME PIALE ..o s 1 pc

= TWEELET GFill . 1 pc

= WOOfEr grill ... 1 pc

Tools needed:

- Hex key 3mm size (for driver screw)

- Hex key 2.5mm size (for terminal plate screw)

- Philips screwdriver no. 2 (for crossover screw)

- Soldering iron + tin (for soldering input wire to terminal)

- Hot melt glue gun (for attaching the damping and sealing the wire hole)



Manual | Ara/ Ara-Be Kit

1. Take out the cabinet from
the packaging and take out the raw
damping material from the cabinet

2. Cut the raw damping material to
7 pcs of damping according to
the cutting pattern diagram

3. Put the crossover on top of
the bottom panel, place the two big
inductor side towards the rear
terminal side




11

4. Fasten the crossover by
tightening all 6 screws

5. Pass the input wire through
hole in the rear panel of the cabinet

6. Seal the cable hole with hot melt
glue




Manual | Ara/ Ara-Be Kit 12

7. Pull the tweeter cable through
the hole in cabinet bracing

8. Place each damping part into
the cabinet according to position
diagram. Add a bit of glue if needed
to hold the damping in place

12

9. Pull out the input cable through
the terminal hole then solder it
to the binding post terminal




13

10. Mount the terminal panel into
the terminal hole at the back side

11. Hook up the cable to the tweeter
and woofer terminal




Manual | Ara/ Ara-Be Kit 14

12. Mount the driver to
the cabinet and fasten the screws




Find Us On

O f

www.sbacoustics.com



LEFT SPEAKER

ARA SCHEMATIC MECHANICAL DRAWING
RIGHT SPEAKER IS MIRRORED

DACRON 90z WHITE COLOR T20MM

ISOMETRIC VIEW
SIZE: 280MM X 150MM (STICK ON
THE TOP OF CABINET) 2PC
DACRON 9oz WHITE COLOR T20MM
SIZE: 705MM X 140MM ("U" FOLDED
AROUND THE TOP CHAMBER) 1PC 288 190
X-CUT
FOR 340 33,7
PAPER PORT | A
pa | —
/ T
['e]
Y
DACRON 90z WHITE COLOR T20MM
SIZE: 150MM X 110MM (STICK ON
THE SURFACE OF - ;'}
ANOTHER DAMPING AT g ¥ i
VERTICAL POSITION) 1PC - ////%/%
s/
L
DACRON oz WHITE COLOR T20MM %/
7.3 /%
2%
|

SIZE: 640MM X 160MM ("U" FOLDED
AROUND THE MIDDLE CHAMBER) 1PC

DACRON 90z WHITE COLOR T20MM
SIZE: 240MM X 110MM (STICK ON

THE BOTTOM OF CABINET) 2PC DAMPING SIZE AND POSITION

444

B

A-A

330

@

«%%

| —— x-cut
FOR
PAPER PORT

X-CUT EXAMPLE

33
Q=

17,5

38,7




4
IN T™™W
1 Red Rl . R3 Yellow -
! Reverse polarity
2 Binck 1.50hm/10W 2.70hm/10W Black "
CON2 L1 L2 TW29R(B)
.2mH/0.7mm 1.1mH/0.5mm
R2 R4
2.7ohm/10W 3.3ohm/10W
—C2
=—162uF/100V
RS
6.80hm/10W
L4 WF
L3
Y Y Y - Y Y Red +
1.2mH/1.4mm 0.6mH/1.4mm
Black -
C3 MW 16P-4
——14.7uF/400V
Title 0
SBA Satori Ara
Size Number Revision
A
Date: 03-May-17 [ Sheet of
File: D:\My Documents\.\SBA ara.SchDoc | Drawn By:
1 3




Manual | Ara / Ara-Be Kit \//

S

Technical specification : Ara Ara-Be
Frequency range . 45-25000 Hz +/-3 dB 45-30000 Hz +/-3 dB
Sensitivity (2.83V/1m) :  87dB 87 dB
Nominal impedance C 40 40
Max SPL : 105dB 105 dB
Recommended amplifier :  40-150 W 40-150 W
Cross-over frequency : 3000 Hz 2300 Hz
Speaker type . 2-way 2-way
Enclosure type . Bass reflex Bass reflex
Port tuning frequency  :  36.5Hz 36.5Hz
Drive Units: Ara Ara-Be
- High frequency driver  : SATORI TW29R SATORI TW29BN

(29 mm soft ring dome) (Beryllium Tweeter)
- Low frequency drivers  : 62" SATORI MW16P-4 6'2" SATORI MW16P-4

(advanced midwoofer) (advanced midwoofer)
Cabinet:
18 mm MDF

Dimensions (H x W x D): 391 x 190 x 388 mm/ 15.4 x 7.48 x 15.27 inch

Net weight (pair):
- Cabinet only : 8.06kg/17.77 b
- Full assembly : 9.6kg/21.16 b

Special Features:

- Advanced high-end drivers.

- Facets on top of cabinet for reduced high frequency diffraction.

- Inclined baffle for correct time alignment of drivers
(allowing for simpler cross-over design)

- Wedge shaped inner rear walls behind midwoofer for reduced direct reflection

- Internal bracing to reduce and distribute cabinet vibrations and hence lower
sound coloration

- Solid single-wiring binding posts



<7\ Manual | Ara/ Ara-Be Kit

Frequency response (Ara-Be)

10C 80
4
95 73
90
85
80
75
o 70 o
- =
65 3
60 27
55 20
50 13
45 7
40 0
20 50 100 200 500 1k 2k 5k 10k 20kHz
Frequency response (Ara)
o
=3
3
60 27
55 20
50 13
45 x
40 0
20 50 100 200 500 1k 2k Sk 10k 20kHz

Response Curve :
—— (Blue) : on axis —— ( Green ) : 15° off-axis —— ( Red) : 30° off-axis
Measured on-axis, 15° and 30° off-axis at 1 m in an ordinary room. Lower frequency dips and peaks are caused by room modes/reflections.




Mechanical drawing (size in mm)

Manual | Ara/ Ara-Be Kit

388
340
=
Y9}
= 8
1<) =
. % g g {2
S SN
© Q
3 g
vl v
sl § &
A-A'
e | x-cuT
FOR
>( PAPER PORT
&

X-CUT EXAMPLE

190

33,7

444

330

A’



S ACOUSTICS

Ara-Be Kit

User Manual



Technical specification :

Frequency range
Sensitivity (2.83V/ 1m)
Nominal impedance
Max SPL

Recommended amplifier
Cross-over frequency
Speaker type

Enclosure type

Port tuning frequency

Drive Units:
- High frequency driver

- Low frequency drivers

Cabinet:
18 mm MDF

Manual | Ara-Be Kit ~
&

: 45-30000 Hz +/-3 dB
: 87 dB

140

: 105 dB

: 40-150 W

: 2300 Hz

. 2-way

: Bass reflex

: 36.5Hz

- SATORI TW29BN

(Beryllium Tweeter)

. 62" SATORI MW16P-4

(advanced midwoofer)

Dimensions (H x W x D): 391 x 190 x 388 mm / 15.4 x 7.48 x 15.27 inch

Net weight (pair):
- Cabinet only
- Full assembly

Special Features:

£ 8.06kg/17.77 Ib
: 9.6kg/21.16Ib

- Advanced high-end drivers.

- Facets on top of cabinet for reduced high frequency diffraction.

- Inclined baffle for correct time alignment of drivers
(allowing for simpler cross-over design)

- Wedge shaped inner rear walls behind midwoofer for reduced direct reflection

- Internal bracing to reduce and distribute cabinet vibrations and hence lower
sound coloration

- Solid single-wiring binding posts



o~ “suojjosye./sepow wooi Aq pasned ase syead pue sdip Aousnbalj 18MoT ‘Woos AIBUIPIO UB Ul W | JB SIXB-4O ,0F PUB ,G| ‘SIXB-UO painsespy
SIXe-o ,0¢ : ( pey ) —— sIxe-jo G| : (usal9 ) —— sixe uo : (en|g) ——
1 8AIND asuodsay

ZH0T J0L AS p14 AL 00s 00z 0ol 0S (4
0 oy
/ St
€l 0s
0z SS
Va4 109
S9
€ Q.
= ©
= 0L
1 SL
08
| s8
06
€L S6
=]
B |
08 L= 201

(9g-eJy) asuodsal fousnbaiy




Mechanical drawing (size in mm)

Manual | Ara-Be Kit ®'
~
)
190
33,7 <
<
A <
8

391

2

)

X-CUT EXAMPLE

NN
N\

N\
A\

\\

N\

N\

N\
N\

DI

RN

N\

N\

7
|

330

| —— x-cuT
FOR

PAPER PORT



N
‘

Manual | Ara-Be Kit

38,7

17,5

&2
Q1 =




5
ISOMETRIC VIEW
NO. PART NUMBER DESCRIPTION ary.
3B00165-00-WS-L/R BO-MDF-ARA WHITE SATIN(SBE1)-
1 | SATORITW29BN (Sold | LEFTIRIGHT or 3800165-00-WHG-LIR BO-MDF-ARA WHITE |
Separately) HIGH GLOSS (SBE1)-LEFT/RIGHT or 3800165-00-BHG-LIR
BO-MDF-ARA BLACK HIGH GLOSS (SBE1)-LEFTIRIGHT
2 TWEETER (Sold THTWDDEXPO2T SATORI TW29R 5 or {HTWDDEXPO28 | 4
Separately With Option) SATORI TW29BN-8
WOOFER (Sold -
3 Sepaboy) 1HOBSWEXP003 6.5in SATORI MW16P4 1
4 | X-OVER (Sold Separately | 1HCRVXEXP005 ARA CROSSOVER or THCRVXEXPOOB ARA | |
With Option) BERYLLIUM CROSSOVER
5 26C0198 GRILL ASSY-SATORI TW29 MAGNETIC GRILL 1
3 26C0200 GRILL ASSY-SATORI 16 MAGNETIC GRILL 1
7 3G50368-00 GS-SEAL-PE FOAM30-240x4x1t-GRAY +3M1000NF0.15 1
8 3NT0223-01 PL-LDPE-15x6x0.03t 1
E] 3NU0030-00 NU-INSERT NUT M4 WITH FLANGE (INSERT SKD 44041201) | 16
10 3PN0027-01 PL-LDPE-15x6x0.03t 1
1 35R0383-00-8 SRMSIH-4x20-ED BLK 12
12 3SR0384-00 SR-YFS-4x20-STAINLESS 4
13 3TM0543-00 TM-BINDING POST HD-520-A BLK CLR 1
14 3TM0543-00 TM-BINDING POST HD-520-A RED CLR 1
15 3WT0010-00 WT-PORT TUBE (OD54x160x2f)mm BLK PAPER 1
16 3WT0011-00 WT-PORT FLARE 2in BLK 3

Manual |Ara-Be Kit

DETAIL A
SCALE1:3

DETAILC
SCALE1:4



oLl 08z , 08z

08y

l

oy

L 0d MY
A O
.... ..4\ . FDUnX ..

=
¥
o
Q
©
o
<
©
1
c
a
=

(ww ul 9z15) uiRNed 1) jeudey buidweq




&
o
a
©
c
<
©
S
c
5]
>

Damping material position (size in mm)

PAPER PORT

X-CUT

DACRON 90z WHITE COLOR T20MM
FOR

SIZE: 705MM X 140MM ("U" FOLDED
AROUND THE TOP CHAMBER) 1PC

5%
555
25%%

DACRON 90z WHITE COLOR T20MM
SIZE: 280MM X 150MM (STICK ON

THE TOP OF CABINET) 2PC

45
SR

5

GLr

%
5
2

X
SRR
SR

R

[E

DACRON 90z WHITE COLOR T20MM

SIZE: 150MM X 110MM (STICK ON

9%
255

i
S5

%

THE SURFACE OF
ANOTHER DAMPING AT
VERTICAL POSITION) 1PC

XSRS
5%

%%

/

555
4%

3

R

TR
R

Fom
R

%%
555
5

5555

R
R
RS

,
R
R
R

R
R

X

DACRON 90z WHITE COLOR T20MM

R
RS
AR
R
SRR
R

RS
SRt
SRS
AR

FOLDED

SIZE: 640MM X 160MM ("U"
AROUND THE MIDDLE CHAMBER) 1PC

DACRON 90z WHITE COLOR T20MM

SIZE: 240MM X 110MM (STICK ON

DAMPING SIZE AND POSITION

THE BOTTOM OF CABINET) 2PC



MOL/D9S

9
MOL/TZL .
7-(MN)d9LMIN AN /4 Ly
s ] _4_ £
UU’ Ww 7@ | HW /{0 ww L@ [ Hw |
+ ANAA ¢ AN ]
M L4 : €1
Jejodig / 4r g9 F.
40
MOL/T6E MOL/TZ8
12 rAY|

Ww 60 / HW 89°0 C wiwi 0@ / HW 22°0
(g) N@ezML 71 17C dM /49

QUH_P MOL/ U89 D moL/oze il
i ’ e _”_= 1y + L

NI

.=
p4
)
o
@
o
<
©
1
c
I
>

ag-ely 21}eWaYdS 1I9N0SS0I)




Manual | Ara-Be Kit
©

Assembling instruction
Part list (each cabinet):
- High frequency driver Satori TW29BN (sold separately)..................... 1 pc
- Low frequency drivers 672" Satori MW16P-4 (sold separately) .......... 1pc
- Ara kit crossover (sold separately) ..........oceevieeienrnneseceseeeeen, 1 pc
- Hex socket screw M4 x 20mm (for driVers) .........co..ovevmeveeeereeesrvnnnens 12 pcs
- Countersunk screw M4 x 20mm (for terminal plate) .........cccovvvrvrirnnee. 4 pcs
- Wood screw 4 x 16 mm for crossover (from kit crossover) ................. 6 pcs
- Insert nut M4 (installed on cabinet) .............cccoeereeininininiencinceeene. 16 pcs
SRS TSR LT g o1 o] 2] C R ———————————————— 1 pc
= BINAING POSE ..ot 1 pair
- Seal gasket (for terminal plate) ........cccoeoeveiiiieiieiecrceee s, 1 pc
- Port flare (installed on cabingt) ............ccccoeeviveveriiicccsceceeee 1 pc
- Port paper tube (installed on cabinet) ...........c.coovevvnerrnnsnncnncnes 1 pc
=DAMPING oo, 1 pc
=Name PIate .........ooviii 1 pc
= TWeeter glill ceeemmmmmmmmmmmmssrar s 1 pc
=WOOTEr GFill w..ooee s 1 pc

Tools needed:

- Hex key 3mm size (for driver screw)

- Hex key 2.5mm size (for terminal plate screw)

- Philips screwdriver no. 2 (for crossover screw)

- Soldering iron + tin (for soldering input wire to terminal)

- Hot melt glue gun (for attaching the damping and sealing the wire hole)



Manual | Ara-Be Kit

1. Take out the cabinet from
the packaging and take out the raw
damping material from the cabinet

2. Cut the raw damping material to
7 pcs of damping according to
the cutting pattern diagram

3. Put the crossover on top of
the bottom panel, place the two big
inductor side towards the rear
terminal side

10




1 Manual | Ara-Be Kit '

4. Fasten the crossover by
tightening all 6 screws

5. Pass the input wire through
hole in the rear panel of the cabinet

6. Seal the cable hole with hot melt
glue




Manual | Ara-Be Kit

7. Pull the tweeter cable through
the hole in cabinet bracing

8. Place each damping part into
the cabinet according to position
diagram. Add a bit of glue if needed
to hold the damping in place

9. Pull out the input cable through
the terminal hole then solder it
to the binding post terminal




13 Manual | Ara-Be Kit ®'

10. Mount the terminal panel into
the terminal hole at the back side

11. Hook up the cable to the tweeter
and woofer terminal




S

.@ Manual | Ara-Be Kit

12. Mount the driver to
the cabinet and fasten the screws

14




Find Us On

O) {

www.sbacoustics.com



Technical specification :

Frequency range
Sensitivity (2.83V/ 1m)
Nominal impedance
Max SPL

Recommended amplifier
Cross-over frequency
Speaker type

Enclosure type

Port tuning frequency

Drive Units:
- High frequency driver

- Low frequency drivers

Cabinet:
18 mm MDF

Manual | Ara-Be Kit ~
&

: 45-30000 Hz +/-3 dB
: 87 dB

140

: 105 dB

: 40-150 W

: 2300 Hz

. 2-way

: Bass reflex

: 36.5Hz

- SATORI TW29BN

(Beryllium Tweeter)

. 62" SATORI MW16P-4

(advanced midwoofer)

Dimensions (H x W x D): 391 x 190 x 388 mm / 15.4 x 7.48 x 15.27 inch

Net weight (pair):
- Cabinet only
- Full assembly

Special Features:

£ 8.06kg/17.77 Ib
: 9.6kg/21.16Ib

- Advanced high-end drivers.

- Facets on top of cabinet for reduced high frequency diffraction.

- Inclined baffle for correct time alignment of drivers
(allowing for simpler cross-over design)

- Wedge shaped inner rear walls behind midwoofer for reduced direct reflection

- Internal bracing to reduce and distribute cabinet vibrations and hence lower
sound coloration

- Solid single-wiring binding posts



“suojjosye./sepow wooi Aq pasned ase syead pue sdip Aousnbalj 18MoT ‘Woos AIBUIPIO UB Ul W | JB SIXB-4O ,0F PUB ,G| ‘SIXB-UO painsespy
SIXe-o ,0¢ : ( pey ) —— sIxe-jo G| : (usal9 ) —— sixe uo : (en|g) ——
1 8AIND asuodsay

ZH0T J0L AS p14 AL 00s 00z 0ol 0S (4
0 oy
/ St
€l 0s
0z SS
Va4 109
S9
€ Q.
= ©
= 0L
1 SL
08
| s8
06
€L S6
=]
B |
08 L= 201

(9g-eJy) asuodsal fousnbaiy

i
pv4
o
@
@
o
<
©
=]
=
a
=




LEFT SPEAKER

ARA SCHEMATIC MECHANICAL DRAWING
RIGHT SPEAKER IS MIRRORED

DACRON 90z WHITE COLOR T20MM

ISOMETRIC VIEW
SIZE: 280MM X 150MM (STICK ON
THE TOP OF CABINET) 2PC
DACRON 9oz WHITE COLOR T20MM
SIZE: 705MM X 140MM ("U" FOLDED
AROUND THE TOP CHAMBER) 1PC 288 190
X-CUT
FOR 340 33,7
PAPER PORT | A
pa | —
/ T
['e]
Y
DACRON 90z WHITE COLOR T20MM
SIZE: 150MM X 110MM (STICK ON
THE SURFACE OF - ;'}
ANOTHER DAMPING AT g ¥ i
VERTICAL POSITION) 1PC - ////%/%
s/
L
DACRON oz WHITE COLOR T20MM %/
7.3 /%
2%
|

SIZE: 640MM X 160MM ("U" FOLDED
AROUND THE MIDDLE CHAMBER) 1PC

DACRON 90z WHITE COLOR T20MM
SIZE: 240MM X 110MM (STICK ON

THE BOTTOM OF CABINET) 2PC DAMPING SIZE AND POSITION

444

B

A-A

330

@

«%%

| —— x-cut
FOR
PAPER PORT

X-CUT EXAMPLE

33
Q=

17,5

38,7




Crossover Schematic Ara-Be

e I, -
| T = )
5.6 UF / MKP DLA1 L2
F 0.22mH/@0.7mm D068 mH/@05mm|  TW29BN(B)

R2 R4
8.2Q/10W 39Q/10W

C2
'—l_—' 68 uF / Bipolar
i
L3 L4

WF
. 3 Y Y Y ) i
1 mH/@1.4 mm 0.47 mH/©@1.2 mm
C3 R5 i
— MW16P(NW)-4

——
4.7 uF | MKP 120/10 W

R6
5.6 Q/10W




